© Continental Teves AG & Co. oHG




\ 03.9302-9050.3 / 740252

03.9302-9010.3 / 740251

03.9302-9021.3 / 740243

03.9302-9041.2 / 740249

03.9302-9020.3 / 740242

03.9302-9001.3 / 740236

O

03.9302-1000.4 / 740122 03.9302-9079.3 / 740259

03.9302-9402.3 / 740269

© Continental Teves AG & Co. oHG




- ) ©
[ | ]
03.9302-9010.3 / 740251
03.9302-9020.3 / 740242 03.9302-9021.3 / 740243

03.9302-9041.2 / 740249

03.9302-9050.3 / 740252

03.9302-9001.3 / 740236

03.9302-1200.4

© Continental Teves AG & Co. oHG




03.9302-9050.3 / 740252

03.9302-9020.3 / 740242

03.9302-9071.3 / 740258

O

03.9302-9079.3 / 740259

03.9302-9010.3 / 740251

03.9302-9042.2 / 740250

03.9302-9032.1 / 740247

03.9302-1300.4 / 740134

03.9302-9001.3 / 740236

© Continental Teves AG & Co. oHG




Spare part lists m

03.9302-9050.3 / 740252

03.9302-9020.3 / 740242

O

03.9302-9079.3 / 740259

o ig‘r" -E:-’f-“f 7~

9,

03.9302-9042.2 / 740250

-

03.9302-9032.1 / 740247

03.9302-9001.3 / 740236

03.9302-9010.3 / 740251

03.9302-1350.4 / 740230

© Continental Teves AG & Co. oHG




03.9302-9051.3 / 740253

03.9302-9210.2 / 740265

03.9302-9022.2 / 740244

O

03.9302-9003.3 / 740238

1

03.9302-9015.3 / 740240

03.9302-9070.3 / 740257

03.9302-9200.2 / 740264 03.9302-1600.4 / 740171

03.9302-9402.3 / 740269

© Continental Teves AG & Co. oHG




b S~

5x20 mm M 2A 250V

03.9302-9211.3 / 740266

03.9302-9022.2 / 740244

03.9302-9250.1 / 740267

—

&

et

03.9302-9052.3 / 740254

03.9302-9200.2 / 740264

03.9302-9003.3 / 740238

03.9302-9070.3 / 740257

pey

03.9302-9402.3 / 740269

03.9302-1650.4 / 740229

© Continental Teves AG & Co. oHG




e S

5x20 mm M2A 250V

03.9302-9211.3 / 740266

03.9302-9022.2 / 740244

03.9302-9250.1 / 740267

03.9302-9053.3 / 740255

03.9302-9200.2 / 740264

03.9302-9004.2 / 740239

03.9302-9070.3 / 740257

03.9302-9402.3 / 740269 03.9302-1660.4 / 740231

© Continental Teves AG & Co. oHG




Spare part lists m

03.9302-9020.3 / 740242

@

03.9302-9079.3 / 740259

03.9302-9041.2 / 740249

03.9302-9021.3 / 740243

03.9302-1800.4 / 740197

03.9302-9002.3 / 740237

03.9302-9050.3 / 740252

03.9302-9401.3 / 740268

© Continental Teves AG & Co. oHG




— )

5x20mm M 6,3 A 250V

03.9302-9023.3 / 740245

03.9302-9250.1 / 740267

03.9302-9200.2 / 740264
?. | d!l‘

03.9302-9060.2 / 740256 \

03.9302-9211.3 / 740266 \

i

03.9302-9101.3 / 740260

03.9302-9052.3 / 740254

O

03.9302-9003.3 / 740238

03.9302-9102.3 / 740261

03.9302-9019.2 / 740241 03.9302-1900.4 / 740203 03.9302-9401.3 / 740268

© Continental Teves AG & Co. oHG




Spare part lists

5x20 mm M 2/2A 250V

03.9302-9200.2 / 740264

03.9302-9022.2 / 740244

03.9302-9250.1 / 740267

03.9302-9211.3 / 740266

O

03.9302-9060.2 / 740256

03.9302-9003.3 / 740238

)

-

03.9302-9052.3 / 740254

@O

03.9302-9104.3 / 740263

03.9302-9019.2 / 740241

03.9302-2000.4 / 740204

03.9302-9103.3 / 740262

vwJ

D

™
.

03.9302-9403.3 / 740270

© Continental Teves AG & Co. oHG




m Spare part lists

03.9302-9212.3 / 740275

03.9302-9200.2 / 740264

00

03.9302-9105.3 / 740274

03.9302-9106.1 / 740289

© Continental Teves AG & Co. oHG

03.9302-9250.1 / 740267

03.9302-3000.4 / 740273

03.9302-9022.2 / 740244

o2

03.9302-9003.3 / 740238

g =
/H»
L

03.9302-9420.3 / 740276

03.9302-9402.3 / 740269




s
0

Spare part lists

T

03.9302-9250.1 / 740267

03.9302-9213.3 / 740293

g

/n

!

03.9302-9420.3 / 740276

03.9302-9106.1 / 740289

03.9302-3010.4 / 740288

03.9302-9022.2 / 740244

(o]

03.9302-9003.3 / 740238

/
t

00

03.9302-9105.3 / 740274

© Continental Teves AG & Co. oHG




i 03.9302-9302.2 / 740292 03.9302-9200.2 / 740264

(T
___,.i‘x‘.l,l.lunj.’.l. 1\ ra

03.9302-9300.2 / 740291

03.9302-9402.3 / 740269

03.9302-9301.1 / 740292

03.9302-3010.4 / 740288

© Continental Teves AG & Co. oHG




03.3518-0900.2
390345

Spare part lists

N

9
=
=
NS

N
o

)

03.9305-1023.0
730034

)

\\\\\lllllll/ll

W
\\\\\“\\ l 1" I////

120

7,
2

[os]
o

1, Iy,

/

N
o

AW
N \
N

03.9305-1022.0
730033

03.9305-0200.4 / 730029 ‘

03.3518-0900.2
390345

83.6701-1500.3
330372

03.9305-0102.3
730011

03.5003-0100.2

DIN 7603 Cu A 10x16

T4

03.9305-0140.2 / 730020 |

- M6 03.9305-0140.1 / 730019
- M7 03.9305-0141.1 / 730021
- M8 03.9305-0142.1 / 730022
-~ M10x1 03.9305-0143.1 / 730023
_ M10x 1.25 03.9305-0144.1 / 730024
-~ M12 x1 03.9305-0145.1 / 730025
L M12x 1.5 03.9305-0146.1 / 730027

990009

1/4" 28 UNF 03.9305-0111.1 /730012
5/16" 20 UN 03.9305-0120.1 / 730018
5/16" 24 UNF 03.9305-0112.1 /730013
3/8" 20 UN 03.9305-0119.1 /730017
3/8" 24 UNF 03.9305-0113.1 /730014
7/16" 20 UNF 03.9305-0114.1 / 730015
1/2" 20 UNF 03.9305-0115.1 /730016

© Continental Teves AG & Co. oHG




03.3518-0900.2 ﬁ 03.3518-0900.2
390345 | | 390345 03.9305-1033.2

! ! 730039 |
w Ak = Ny

iy
\\“\\“\ |y,
R

i
\\“\\“\ ‘ i,
N

S gy 160/// @ S g @ 160%4, \
03.9305-1022.0 Lo s 03.9305-1022.0

730033 730033

240 \\\\s

R

[
o ik Yew,

S e 04 /”},,

=

\\§
N
A

®
Z S
a1 lmlm\\\“

03.9305.1023.0

03.9305-1024.0

.
oy,
A ©
L » 2
°
S

%, )

Yoy uulm\\\\“

730034 730035
@
J
03.9305-1020.4 / 730032
03.9305-1024.0 — 03.9305-1025.0 03.9305-1025.0
730038 730036 730036 ------—
h 03.9305-1026.0 =
g i 730037 ——1 I 1 I 1 I 1 —1 i

\\
~

e = —m X S

DIN 7603 L8 o 0| /o
Cu A 10x16 |

03.9305-1045.2

v | |\ 3\

03.9305-0140.2 / 730020

M6 03.9305-0140.1 / 730019
M7 03.9305-0141.1 / 730021
M8 03.9305-0142.1 / 730022 ~
| M10x1  03.9305-0143.1 / 730023 e
_ M10x 1.25 03.9305-0144.1 / 730024 0] ), %4 0
| M12x1  03.9305-0145.1 / 730025
| M12x1.5 03.9305-0146.1 / 730027 N
0 Y
1/4" 28 UNF 03.9305-0111.1/ 730012

5/16" 20 UN 03.9305-0120.1 / 730018
5/16" 24 UNF 03.9305-0112.1 /730013 L

—@
3/8" 20UN 03.9305-0119.1/730017 j N
3/8" 24 UNF 03.9305-0113.1/730014 J J AN
7/16" 20 UNF 03.9305-0114.1 /730015 03.9305-0102.3

1/2" 20 UNF 03.9305-0115.1 /730016 730011

]

© Continental Teves AG & Co. oHG




Spare part lists 6-17

03.9314-4982.1 / 760113

G 03.9314-4981.2 / 760112

:) 03.9314-4994.2 / 760135

03.9314-4999.4 /760133

03.9314-4983.1 / 760114 03.9314-4984.1 / 760115 03.9314-4985.1 / 760116 03.9314-4986.1 / 760117

SW 13 @ 30,6 mm @ 47,7 mm @ 54 mm @ 63,5 mm

03.9314-4987.1 / 760118 03.9314-4988.1 / 760119 03.9314-4989.1 / 760120 03.9314-4990.1 / 760121

@ 32 mm @ 32 mm @ 42 mm @ 55,5 mm

03.9314-4991.1 / 760122 03.9314-4992.1 / 760123 03.9314-4993.1 / 760124

@ 50,8 mm @ 30 mm @ 32 mm

© Continental Teves AG & Co. oHG




DIN E

DIN F

DIN F

Spare part lists

03.9310-0001.4 /760012

03.9310-0015.4 / 760134

%)

f

f

4,75 mm

03.9310-0010.2 / 760077

03.9310-0005.1 / 760019

03.9310-0006.1 / 760021

6,00 mm

03.9310-0011.2 / 760078

03.9310-0002.1 / 760013

03.9310-0006.1 / 760021

8,00 mm

03.9310-0012.2 / 760079

03.9310-0003.1 / 760015

03.9310-0007.1 / 760022

10,00 mm

03.9310-0013.2 / 760080

03.9310-0004.1 / 760017

03.9310-0007.1 / 760022

3/16” mm

03.9310-0010.2 / 760077

03.9310-0001.1 / 760010

03.9310-0006.1 / 760021

%)

7

f

4,75 mm

03.9310-0010.2 / 760077

03.9310-0005.1 / 760019

6,00 mm

03.9310-0011.2 / 760078

03.9310-0002.1 / 760013

8,00 mm

03.9310-0012.2 / 760079

03.9310-0003.1 / 760015

10,00 mm

03.9310-0013.2 / 760080

03.9310-0004.1 / 760017

3/16” mm

03.9310-0010.2 / 760077

03.9310-0001.1 / 760010

%)

7

ft

4,75 mm

03.9310-0014.2 / 760081

03.9310-0005.1 / 760019

© Continental Teves AG & Co. oHG






